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I can partition 2-digit numbers in different ways.

Complex Part

Partition each 2-digit number in 3 different ways. Draw rings around the tens and ones to help.

Here is an example

S

I~
™~

™~
I~
[~
™~
™~
™~
™~
~L~

™~
™~
™~
™~
™~

™~
™~
™~
™~
™~

~ ™~ ™~

N N N
N N N
NA N N
~L N N

~1
[~
[~
[~
~1

> 2 & &2 &9

I~
™~

A
A
A
A
A
A
~1
~L

53

SOV NVRVRVRRA
/ [ 17777

SOAONNNVNNR RN
/ [ 77777

ASAONA VA RRN RN
/ [ /7777

SOV NVRVRVRRA
/ [ 17777

O SOV NNNAA
/ /17 /7

76

/S \
i

/&r.i.......\\

S

I~
™~

™~
I~
[~
™~
™~
™~
™~
~L~

™~
™~
™~
™~
™~

™~
™~
™~
™~
™~

~ ™~ ™~

N N N
N N N
NA N N
~L N N

~1
[~
[~
[~
~1

> 2 & &2 &9

N~
M~
N~
N~
N~
N
N~
N~
N~
~L-

53 =

SOV NVNRNRRA
/ [ 17777

SOV N VNN R RN
/ [ 77777

AANA VAR R RN
/ [ 77777

SOV NVNRNRRA
/ /17

AANNNN
/ [ 717

/77
ANANANAY
v

76

2
77777777

I LT

@-@DH @60 |@-0a@

1]

T

™~
™~
™~
™~
™~
™~
™~
™~
™~
~L

™~
™~
™~
™~
™~

~1
[~
[~
[~
~1

N N N
N N N
N N N
N N N
~L N~ N

™~
™~
I~
I~
™~

> 2 & &0 &2

™~
™~
™~
™~
™~
™~
™~
™~
™~
~L

53 =

SOV NVRVNVRRA
/ [ 77777

SOV VNN N RN
/ [ 17777

AONA VAR R RA
/ [ /7777

SOV NVRVNVRRA
/ [ 77777

SOV VNN N RN
[ 177

ﬂﬂ O\ /7

76

twinkl.co.uk




VANV RVRRRRRA
[T 77T

VMOV VAR AR RRA
[ 11T

68 =

ioning

t

L

Complex Part
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Complex Part

I can partition 2-digit numbers in different ways.

Write the number represented by the drawing and partition each number in 3 different ways.

Draw rings around the tens and ones to help.

Here is an example:
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Complex Partitioning
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Complex Partitioning
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Complex Partitioning

I can partition 2-digit numbers in different ways.

Partition each number in 4 different ways.

Here is an example:

41 = 40 + 1 41=__30+ 11 41=__20+21 41=__ 10 + 31

1. 68 = + 68 = + 68 = + 68 = +
2. 91-= + 91 = + 91 = + 91 = +
3. 47 = + 47 = + 47 = + 47 = +
4. 93 = + 93 = + 93 = + 93 = +
5. 42 = + 42 = + 42 = + 42 = +
6. 79 = + 79 = + 79 = + 79 = +
7 51 = + 51 = + 51 = + 51 = +
8. 99-= + 99 = + 99 = + 99 = +
9 78 = + 78 = + 78 = + 78 = +
10. 85 = + 85 = + 85 = + 85 = +
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Complex Partitioning Answers

Question

Partition each 2-digit number in 3 different ways. Draw rings around the tens and ones to help.

Multiple answers are available e.g.
53=50+3,53=40+13,53=30+23

Multiple answers are available e.g.
68 =60+8,68=50+18, 63 =40+ 28

Multiple answers are available e.g.
76=70+6,76=60+16,76 =50+ 26

Multiple answers are available e.g.
93=90+3,93=80+13,93=70+23

Multiple answers are available e.g.
89=80+9,89=70+19,89 =60+ 29

Multiple answers are available e.g.
37=30+7,37=20+17,37 =10 + 27

1
2
3
*
Question

Write the number represented by the drawing and partition each number in 3 different ways.
Draw rings around the tens and ones to help.

Multiple answers are available e.g.
34=30+4,34=20+14,34=10+ 24

Multiple answers are available e.g.
56=50+6,56=40+16,56=30+26

Multiple answers are available e.g.
62=60+2,62=50+12 62=40+22

Multiple answers are available e.g.
87=80+7,87=70+17,87 =60 + 27

Multiple answers are available e.g.
95=90+5,95=80+15,95=70+25

Multiple answers are available e.g.
48 =40 + 8,48 =30+ 18,48 = 20 + 28
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Complex Partitioning Answers

* %
Question Answer
Partition each number in 3 different ways.
1 Multiple answers are available e.g. 6 Multiple answers are available e.g.
64 =60+4,64=50+14,64=40+24 67=60+7,67=50+17,67 =40 + 27
) Multiple answers are available e.g. 7 Multiple answers are available e.g.
31=30+1,31=20+11,31=10+21 53=50+3,53=40+13,53=30+23
5 Multiple answers are available e.g. 8 Multiple answers are available e.g.
97=90+7,97=80+17,97 =70 + 27 66 =60+ 6,66 =50+16,66=40+26
4 Multiple answers are available e.g. 9 Multiple answers are available e.g.
35=30+5,35=20+15,35=10+ 25 74=70+4,74=60+14,74=50+24
5 Multiple answers are available e.g.
82=80+282=70+1282 =460+ 22
L 8 & ¢
Question Answer
Partition each number in 4 different ways.
Multiple answers are available e.g. Multiple answers are available e.g.
1 68 =60+8,68 =50+18, 6 79=70+9,79 =60 + 19,
68 =40 + 28, 68 =30 + 38 79 =50+ 29,79 =40 + 39
Multiple answers are available e.g. Multiple answers are available e.g.
2 91=90+1,91=80+11, 7 51=50+1,51=40+11,
91=70+21,91=60+31 51=30+21,51=20+31
Multiple answers are available e.g. Multiple answers are available e.g.
3 47=40+7,47 =30+ 17, 8 99=90+9,99 =80+19,
47 =20 + 27,47 =10 + 37 99 =70+29,99 =60+ 39
Multiple answers are available e.g. Multiple answers are available e.g.
4 93=90+3,93=80+13, 9 78=70+38,78 =60+ 18,
93=70+23,93=60+33 78 =50 + 28,78 =40 + 38
Multiple answers are available e.g. Multiple answers are available e.g.
5 42=40+2,42=30+12, 10. 85=80+5,85=70+15,

42 =20+ 22,42 =10+ 32

85 =60+ 25,85=50+35
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